COVER PAGE

School Name **South Middle School** School Number 1**50** Grades **6**

District Number 251 Enrollment 665

Adoption Cycle 2011-12

Content Area(s)

Math

Names and titles of persons responsible for the development of the plan:

Please insert names of math teachers and SBDM

members Ryan Reusch Principal Stacey Fish Math

Kimberly Hicks Teacher Allyson Williams Math

Paul Meteger Teacher Stacey Hyslop Math

Ed Fruehwoold Teacher Paula Carver Math

Patty Watkins Teacher Heather Werry Math

Bennie Mouser Parent Jill Stallings Math

Phyllis Blasser Parent Ashley Staggs Math S.E.

Rondene Rollins Parent Beverly Penton Math S.E.

Tracy Belfield Math S.E. Melody Sawyer Math S.E.

Bethany Hanper Math S.E. Abbi Long Math S.E.

Pan headingham Discovery Math

School Name South Middle School

School Number 150

DETAILED PURCHASE PLAN FOR TEXTBOOKSOne completed form for each vendor or use a copy of the purchase order

Vendor	Houghton M	lifflin Harcourt				
Tex	tbook	*ISBN	Unit Cost	Quantity	Total Cost	
See attach	ned proposal	A LANGE OF THE STATE OF THE STA				
		NAME OF THE PERSON OF THE PERS				
					\$18,346.00	
			** Estim:	Subtotal ated Freight	\$1,375.98 \$19,721.98	
				Total Cost	Φ 13,7∠1.30	

^{*} International Standard Book Number (ISBN) – In books, the ISBN is found on the backside of the title page. It is extremely important to use this number when ordering; otherwise mistakes could occur with your order.

^{**} State bid prices do not include shipping costs. A good estimate of freight is 10%.

Purchasing Plan July 1, 2011 SAMPLE FORM Form 3

School Name South Middle School

School Number 150

DETAILED PURCHASE PLAN FOR INSTRUCTIONAL MATERIALS

One completed form for each vendor or use a copy of the purchase order

Vendor	Houghton	Houghton Mifflin Harcourt			
It	em	*ISBN or Catalog Number	Unit Cost	Quantity	Total Cost
See attach	ed proposal				
				1	
		,		Subtotal	
			** Estim:	ated Freight	
				Total Cost	Gratis

^{*} Note on ISBN – All items listed on the State Multiple List have an ISBN that should be used when placing orders. For supplementary items, a catalog number is appropriate.

^{**} State bid prices do not include shipping costs. A good estimate of freight is 10%.

School Name South Middle School

School Number 150

BUDGET SUMMARY

Revenue:

Current State Allocation \$00.00

Carry-over funds None (becomes carry-over on July 1)

Total State Monies None

Projected Cost for:	Categories		
Textbooks	\$ 19,721.98		
Instructional Materials	Gratis		
Rebinding & Replacement			
TOTAL EXPENDITURES	\$ 19,721.98		

Projected carry-over funds None

School Name South Middle School

School Number 150

STATEMENT OF ACCOUNTABILITY

We, the undersigned, certify that this Textbook/Instructional Material Purchasing Plan implements the Program of Studies learning goals and academic expectations for the 20 1 - 1Z adoption cycle.

School Council Members' Signatures:	1
Kemberla S. Michs Saul M.	Low .
Dhillis Blasser Edtrue	hwald
Patty Watkins	
13 Monsus	
Fran Kenser	8/16/11
School Council Chair	Date
The cost of this plan is within the appropriation for this school.	
School Board Chair	Date
In the absence of a school council, Certifies that this Textbook/Instructional Material Purchasing Plan in Program of Studies learning goals and academic expectations for the	
adoption cycle. The cost of this plan is within the appropriation for	
School Board Chair	Date
School Board Secretary	Date



Cost Proposal Prepared For

Henderson Co South Jr High Sch

800 S Alves St Henderson KY 42420

Attention:
Leo Peckenpaugh
leo.peckenpaugh@henderson.kyschools.us

For the Purchase of:

MATH IN FOCUS

Prepared By Janel DeBoer janel.deboer@hmhpub.com

PLEASE SUBMIT THIS PROPOSAL WITH YOUR PURCHASE ORDER.



Attention:
Leo Peckenpaugh
leo.peckenpaugh@henderson.kyschools.us

Customer Service 9205 South Park Center Loop Orlando, FL 32819 FAX: 800-269-5232

Expiration Date:8/5/2011

Proposal for Henderson Co South Jr High Sch **MATH IN FOCUS**

		SalePurchase		Complimentary			
	SBN	Títle	Price	Quantity	Amount	Quantity	Value
Grade	6						
	= ials and Services	5					
1465620	9780547618098	HMH Math in Focus; Singapore Math Student Edition Set Course 1 2012	\$64.00	253	\$16,192.00		
1466752	9780547626369	HMH Math in Focus; Singapore Math Student Manipulative Kit Course 1-3	\$359.00	6	\$2,154.00		
Totals for Materials and Services		Totals for Materials and Services		\$18,	346.00		
Gratis	6						
1465623	9780547618128	HMH Math in Focus; Singapore Math Teacher Edition Set Course 1 2012	\$99.50			7	\$696.50
1458857	9780547578972	Houghton Mifflin Harcourt Math in Focus Activity Book Grade 6	\$42.00			7	\$294.00
1465532	9780547618012	HMH Math in Focus; Singapore Math Extra Practice Set Course	\$45.00			7	\$315.00
1465613	9780547618029	HMH Math in Focus; Singapore Math Reteach Set Course 1	\$45.00		:	7	\$315.00
1458868	9780547578873	Houghton Mifflin Harcourt Math in Focus EnrichmentBook, A Grade 6	\$42.00			7	\$294.00
1459015	9780547579030	HMH Math in Focus; Singapore Math Assessment Book Course	\$42.00			7	\$294.00
1459018	9780547579092	Houghton Mifflin Harcourt Math in Focus TransitionsGuide Grade 6-8	\$29.15			7	\$204.05
1459019	9780547579108	Houghton Mifflin Harcourt Math in Focus SolutionsKey Grade 6	\$38.00			7	\$266.00
1474650	9780547677774	HMH Math in Focus; Singapore Math Teacher One Stop CD-ROM Course 1	\$135,00			7	\$945.00
1474838	9780547677118		\$130.00			7	\$910.00
1474697	9780547679600	HMH Math in Focus; Singapore Math Online Student Edition, 6 Year Course1 2012	\$48.00			253	\$12,144.00
1474736	9780547676791		\$285.00			7	\$1,995.00
		Totals for Gratis					\$18,672.55
		Totals for Grade 6			\$18,346.00		\$18,672.55

Proposal Summary	Total Value of Proposal: Total Complimentary:	\$38,394.53	\$18,672.55
	Subtotal Purchase Amount:	\$18,346.00	
	Shipping & Handling:	\$1,375.98	
	Total Cost of Proposal (PO Amount):	\$19,721.98	

Proposal for Henderson Co South Jr High Sch MATH IN FOCUS

Expiration Date:8/5/2011

Total Cost of Proposal (PO Amount):

\$ 19,721.98

Total Value of Proposal:

\$ 38,394.53

Total Savings:

\$ 18,672.55

This is a cost proposal only. Orders submitted under this proposal on or before the expiration date are subject to acceptance at Houghton Mifflin Harcourt's main office and are subject to the applicable terms in Houghton Mifflin Harcourt's invoice issues for such order.

Date of Proposal: 6/6/2011

Proposal Expiration Date:8/5/2011



Prices: Prices quotes are wholesale school prices and do not include transportation charges unless otherwise stated in this proposal. These wholesale school prices apply to the educational customers of Houghton Mifflin Harcourt. Prices quoted are valid for orders submitted on or before the expiration date set forth in the proposal.

Educational customers are billed at wholesale school price, f.o.b. shipping point, with a prepaid transportation charge and, unless the customer specifically requests otherwise, a charge for our guarantee of delivery is added to the invoice when shipped via U.S. Postal service. For educational customers preferring f.o.b. destination billing, ten percent (10%) of wholesale school price is added and we pay transportation charges and guarantee delivery. Prices do not include any sales tax. Applicable sales tax, if any, will be added to the invoice unless an appropriate tax exemption certificate has been furnished to Houghton Mifflin Harcourt.

FREE MATERIALS: Upon receipt of purchase order, gratis items will be shipped in direct proportion to pupil materials purchased. If purchases vary from those included in this proposal, gratis items will change accordingly. Gratis items may also change if purchase is other than a direct school district to publisher order, such as via a third-party vendor or jobber.

 $\stackrel{\leftarrow}{{\cal K}_{i}}$ Houghton Mifflin Harcourt

Attention:
Leo Peckenpaugh
leo.peckenpaugh@henderson.kyschools.us

Customer Service 9205 South Park Center Loop Orlando, FL 32819 FAX: 800-269-5232